A & 0l & AtES & Al

A

SA AL
ZE: C2AE T - 22
ol E2EE 2 72 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
rar-=inl; 5,935,361 3,950,203 1,985,158
- 4,935,361
CH 1,000,000
CESAIE ZH| - 2l 567,780 2,213,780 1,646,000
CEEE 2 72 567,780 2,213,780 1,646,000
CE2E=FHFA 50,000 50,000 0
401 AIEHIZ SR HYI 50,000 50,000 0
01 Al&HI 40,000 40,000 0
Ookz=x=+ 40,000,000 40,000
02 Zeltl 10,000 10,000 0
Okz=%=+ Zaltl 10,000,000& 10,000
CEAE 2] HEFA 13,780 13,780
201 eer23y| 11,280 11,280
01 AtR2t2|HI 7,920 7,920
OEAHEZA AMNRXSE 2,840
o=Z2H e 180,000 4 H 720
oZZ2H AT 180,000 x4 720
oZ2H ZXI(A1) 40,0003 +58 A 200
oiglf e 150,000 *4H 600
oLZlE Sl 150,000 4 H 600
OHEAMY EAHEN X THSA 1,200
oAl 1,000 *6000H 600
oM 20,0003 *302 A 600
Oge=8 Sl 8,000& x11& 36 3,080
Oz 2c|yol? 2l d4+d
100,000 2 *43] 800
2 35244l 3,360 3,360 0
OgRxY =70 &€ FAU
2,400,000 *1CH 2,400
OXsxt 2= 500,000 1CH 500
OXIS XAl 100,000 *1CH 100
OSRME AE2E R 120,000 120
Oggzd oRtEa 28 dllg &7
240,000 240
203 HR=4AY] 2,500 2,500
03 A=A PR FA| 2,500 2,500
(OFaF=VARSESS| 2,500,000& 2,500
DX XY 0lHEZ HEHE(HEALY) 300,000 300,000
401 AIEHIZ SR OHYI 300,000 300,000
01 Al&HI 300,000 300,000
OXXY =X 0lHEC=2 Mt
300,000,000 300,000
HBSAIEES I EHES 24,000 24,000 0




SN A D
ma: T2AlE Zy - 22

ol E2EE 2 72 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 24,000 24,000
01 Al&H| 24,000 24,000
ORMIBEAIE= FIIAHHEHES
24,000,000& 24,000
SnE2iH2 2@ C2FH|(MEALY) 75,000 0 75,000
401 Al HIZ S OHbI 75,000 75,000
01 AlZ2H| 75,000 75,000
Osuz21HZ 23 25|
75,000,002 75,000
Y2, HE2 A TRHY|(HBAIY) 75,000 0 75,000
401 AIEHIL L] 75,000 75,000
01 Al&tt] 75,000 75,000
OgYz, gFz U 2|
75,000,000& 75,000
ST291HZ 2@ T2FHI(HEALY) 30,000 30,000
401 AIEHIX R0 30,000 30,000
01 A28l 30,000 30,000
OS7Z913H& 23 =2 3Y|
30,000,000& 30,000
SAIDHE 2,869,000 1,313,800 1,565,200
- 1,869,000
CH 1,000,000
SADIEIAIE 22| 23t 2,860,000 1,305,000 1,565,000
T 1,860,000
CH 1,000,000
2 & ot=AlE 3l 850,000 750,000 100,000
401 AIEHIZ SR 0HYI 850,000 750,000 100,000
01 Al 850,000 750,000 100,000
OB €2 L stAle H|
430,000,000 430,000
Oz &2 & oteAlE 282(SIHAH <)
400,000,000& 400,000
OZLH ot==2t2 CCTV ZAHEIIH )
20,000,000& 20,000
gecldel 24 =4 20,000 20,000
401 AIEHIL2H] 20,000 20,000
01 Al 20,000 20,000
ODIZBX L TOIK U4 243
20,000,000 20,000
et o= 8 =A 300,000 200,000 100,000
401 Al HIZ S 0HbI 300,000 200,000 100,000
01 Al&H| 300,000 200,000 100,000
O St=AlE =L (SERRA HEX)
300,000,000 300,000




A AL
M SADNY

CH2l: ZADIEIAIE 22| 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 g KAl 2 30,000 30,000

401 Al HIZL 201 30,000 30,000
01 Al&HI 30,000 30,000
O Mz S| 2
1,500,000 *200H 2= 30,000
SULAM=WUAZ 93 ol B0 =8 £ JI24 160,000 0 160,000
HES
401 AIEHIZ SR THYI 160,000 0 160,000
01 Al&HI 160,000 0 160,000
OFULHM=uXE LA ot+=HHIUHH =
g 2 II=EAEY 160,000,000 * 14! 160,000
282 B (g 2F) =4 1,500,000 0 1,500,000
- 500,000
CH 1,000,000
401 AIEHIX SO 1,500,000 0 1,500,000
- 500,000
CH 1,000,000
01 A28l 1,500,000 0 1,500,000
Oz=2 =23 (2de 2d) =4
1,500,000,000& 1,500,000
- 500,000
CH 1,000,000
CAA =22 9,000 8,800 200
SAAHEER=A 9,000 8,800 200
201 er23| 9,000 8,800 200
01 At2teltl 9,000 8,800 200
OZAAE s8x51s
3,000,000 *23] 6,000
OZAAEAE 2 B4
100,000 *15& 23] 3,000
INESEELES 2,409,580 333,122 2,076,458
slgigs A8dy 29 2,409,580 333,122 2,076,458
AHge =8 38,446 26,200 12,246
201 er23y| 26,300 26,200 100
01 AtR2t2|HI 12,252 12,152 100
OXFFL L QI ADE 79 4,052
oEZ2E &7 40,00021+82 320
oZ22H 23 600,000 *2SET 1,200
o2l &l 175,000 »2CH*50H 1,750
oIgly 23 75,0003 *2CH*4SET 600
oIs)| A2F 182,000 182
OXIZIIZHEX & & 2el
164,000& +508 8,200
2 s5=4g4l 14,048 14,048 0




SA: A8
PSERNESETS
Chel: dzigt=s XY 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEECET] 80
oXHAND B28EI| SN2s
650,000 650
SXHEH MM RN 24 200,000 200
ORSUESHTEAIAL S/ SR B4 10,160
oGISAHZEI (GeoNur is for KRAS)
4,620,0002! %23 9,240
o0Z-Xstudio(2I ZE E) 275,000 %23 550
CGT(ZANEHAETAE)
184,80021%23] 370
ADH AR ZHISIY] 950
oXHAR 158, 6002 %5 793
CEXOIEHESOIN LIAR
158,6002!* 1S 159
ORSMHESTRAIAL HOIES 2455 N
EIEES 1,042,8002 %23 2,086
308 RXIEHHISOIH 7,146 7,146
11 Z2II2SOITHE Y AR I ELAA 7,146 7,146
OXM=YIIES It 2l
7,146,0002 7,146
405 RHAHE S| 5,000 5,000
01 XAt S Z 3 S| 5,000 5,000
OFX=AD| 7 5,000,0002*1CH 5,000
NEEES 2,287,287 167,459 2,119,828
201 B2 | 9,85 13,908 4,053
01 AlR2H21H 6,800 10,853 14,053
OXINTHEA ERS M
10,0002 *20004 2,000
OXNEUEA A28 2 2,000,0002 2,000
OXEHBARS BaLY 1,800
e ERELL 100, 0002 x5 %23 1,000
SXIHHEASI R3]
100, 0002 *4 % %23 800
OZH2 02" BHAL4r22
200,000 %521 1,000
® 2Z2| 3,055 3,055 0
OXIMTHEAAIY RER2
3,055,000 3,055
301 LEtERZ 2,277,432 153,551 2,123,881
14 JIEtR A2 2,277,432 153,551 2,123,881
OSZEDINT UEWEAAIY ZH2
2,277,431,5202) 2,277,432
TE2Y FAAY 83,847 56,673 27,174
201 B2 6,664 6,544 120
01 Al 2218 4,880 4,880 0




SA AL
mH: (R
Chel: dzigt=s XY 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFAEIRAG] a4
100,000& x5 *13] 500
OC-HEHE ZdZey 223 1,380
CEL (MY 4, 1ME)
345,000 x4 1,380
O=a2d2 2= N& S
3,000& 1,000H 3,000
02 S3=gHl 1,784 1,664 120
OEZHE XS4 SHEH
1,400,000& 1,400
OADLE KAIS HIOIH AtE&
32,000~ 1CH =122 384
308 XtXIEMSOIH 48,183 21,129 27,054
11 SIS0t oA A5 A 48,183 21,129 27,004
OFAFE2CIANAY RAMN 25 £ =A
2l 37,197
oFAZEACIAIAY N =
19,524,000& 19,524
oFAFB2ACIAAE FX2t
17,673,000& 17,673
OYURFA 75 Y ZAFPIIZE SN
cl 10,986,000& 10,986
401 AIZHIX R0 29,000 29,000
01 AlZ2H| 29,000 29,000
OFAEEAIE HMEHZX
300,000 2004 A 6,000
OFAEEAE RA2e 23,000
OFATBAL LMZA
5,000,000& *14] 5,000
oFAJEANE N2
300,000 60K A 18,000
HYE2HAHI (AL 89,001 89,501 A500
=34 89,001 89,501 A500
SAI1=23H] 89,001 89,501 A500
201 er=23| 13,041 13,041 0
01 At2teltl 13,041 13,041 0
ORAMEg JIZ2+EH| 279,000 %23 6,417
OJ|2g =8 =&l
8,000 x34!%23& * 12 6,624
202 04| 71,760 71,760
01 SLHoIH 71,760 71,760
OJi2g2+8 0yl
260,000 x23E « 12 71,760
203 HE=AH] 4,200 4,200
MU A2 LRFEI 4,200 4,200
ORMEAHZ2E 350,000&x 122 4,200
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